Quiz 3 for chapter 4 and 5, STAT 3309

1.  Calculate the mean and variance of X

	xi
	P(xi)
	
	

	1
	0.3
	
	

	2
	0.2
	
	

	3
	0.3
	
	

	4
	0.2
	
	


Mean=1*0.3+2*0.2+3*0.3+4*.2=2.4
Variance=(1-2.4)^2*0.3+(2-2.4)^2*0.2+(3-2.4)^2*0.3+(4-2.4)^2*0.2=1.24
2. Thirty percent of all customers who enter a store will make a purchase. Suppose that 6 customers enter the store and that these customers make independent purchase decisions. 

(a) Let X= the number of the six customers who will NOT make a purchase. Write the binomial formula for this situation. 

Success=Not making purchase; n=6, p=0.7; 

(b) What is the mean and variance of X?

   Mean=6*0.7=4.2; variance=6*0.7*0.3=1.26
   P(X=2)=0.0595

3. For an unfair coin the probability to toss a Head is 0.6. Toss the coin 10 times. Let X be the total number of Heads. Identify the distribution of X and calculate P(X=4).

Binomial distribution with n=10, p=0.6; P(X=4)=0.1115

